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Instructions to Pupils: ,
1: Do not open this baoklet until you are told to do s0.”
2. Follow all instructions carefully.

3. This paper consists of 3 parts, Sections A,BandC.
4. ANSWER ALL THE QUESTIONS.

Waximum | Warks Obtained

Section A 15
SectionB | - 15
Sectlon ¢ 20
ot | 50 ot

i

*This paper consists of 16 pages altogether (excluding oover page).

* This paperis not to-be reproduced in part or whole wnthout the permission of Ihe
Pnnclpal




- Seetion A (15 marks)

Qirestions 1 fo 15 carry 1 markeach.

. Eor each question, four cholces are gly von; -

gl;p;oﬁ\aéha cone#:t answer and write ltsnuiﬁﬁer {1, 2, 3 or 4) in the brackets .
rovided, ~ . ;- EIR,

1. In218, tha dlgit Is in the tens place.
M 1
» 2
@ 3 -
@ 10 . (

2. 16 more than 372 is

(M 212
@) 386
(3 388 .
4) 532 . AR

3.- 600--48=

{1) 568
(2) 548
(3) 462
@ 482,



4. Whatis the missing number in the box?

i 3 &6
L S
7. 5. .2
(h &6
2 8
3) 3
4 4
5. 165=100+ +15
(1) so0tens
(2) 50ones
(3} 60fens
(40 60ones

'_6. " 3+3+3+ 343 =

(1) 5
@ 15
3 3

4. 45



7. Wfﬂch one af these equations daes not represent the plcture be!ow?

a4d Qéééd $4444

o g Rl

[diueidedsailenive
(1) exs' .
{2) 6fives

(3) ©Gagroups of b
(4) 6+6+,6+_6+6.

8 3IZ+4=
{7
@ 8

B 28
4 36

8,  Ahmad has 30 marbles.-
He puts them equally lato 3 boxes.
How many marbles are there in.each box?

(1 -90

2 33
@ 27
4 10



Which one of the following lengths is the shortest?
(1) -36m '

@ .36em
- (3) 6834~

What Is the time shown-on the clock?

0 9.00
@ 955
@ 1145
@) 1245
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14,  The figure below is made up of straight lines.

() "8
@ e
(3 10
@y 1

1B e

15. How many flat stitfaces are there'In the figure below?

M 8
@ 7
® 8
@ 4



Section B (15 marks) -
Qiiestions 16-to 20 caviy 1 mark each.

Questlons 21.to 25 carry 2 marks each.
o SHSWers In:the:boxes.provided.

Wit

ShoW bt workivascledntis.
16. 'What is the valii& of 4 Hundréds2 tens 5 ones?

17. ©35is 2 tefis mors than. . .

18.  Draw the minute hand to show 3.30 pm.




19.

Atrange the following fractions in order, starting with the smallest,

4 3 8
v ' 7 ' 7

smallest

20,

" What fraction of the figure below is shaded?

There were 564 visitors at the Toy Museum on Saturday.
There wWere 34 motre visitors-at the museum on Sunday than on Saturday.
'How many visitors were there on Sunday?




22.  Steven had 12 stamps.
He-shared the stamps €qually with his brother.
" Howniany stamps did each of them get?

2

5 of 3 book on.Monday.

-23.  Tomread

He read %—' imore of the same book.on Tuesdaytisn.on Monday.

What fraction of the book did he read on botfrdays?

10 -



24, Susan cut a pizza into 8 pleces.

She ale some of the pieces and had % of the pizza left.

: Whatfraction of the pizza did $he-esit?

25,  How much watlér is needed to {ill the pall?

Look at the picture below to answer the question.
124

¢ of water Is needed {o fill the pail.

11



Section C (20 marks)

Quesﬁans 26 16 30 catry 4 marks each,

Read thé q’gesgfous carefully.

srrow a}!*you wmkings, equatfans and word sﬁatements clearly.

ARETNEPON
i I e B N3-4 Tre
i ' - . - F - _--q" 4 h- o

.".. *

26.  Mrs Lim baked 18 cupcakes.
She baked 3 times as many cupcakes as Mrs Tan.
(a) How many cupcakes did Mrs Tan bake?
{b) How many cupcakes did they bake altogether?

(a}

®)

Workings



27. Devi spent $57 on-a dress and $200 on a necklace.
She gave $0Me Money fo the cashler and received $43 in change.
(a) How miuch’ ‘thoney ¢ du:l she spend altoge’ther?
(b) Haw: much money ﬁld she gwe the. cashler?

- .Workings

(@ .

(b)




28,  Study the graph below carefully and answer the questions (a) and (b).
P2 Charity Favaurite Animal

Q

Q
&
<

Kangaroo | Tiger. Panda Giraffo
~ Each @ stands for _pupils
(@)  If9.pipils like the iger, what does each “C5¥stand for? .
(b  Howmany more pupiis fike the lion than the panda?
Workings

(a)

(b)

11




29.  There were 226-boys at a'concert. .-
' Thieis were 55:moe.boys than girls at the concert.
- What was the.total number of children at the.concert?

- Workings




30. The tofal mass of 2 bags‘of rice and 3 packets of sugaris 15 kg’
The mass of 1 bag of rice is ejual o the'mass of 1 packet of sugar
What.is the total mass o? the 3 packels ofaligar?

Workings

" End of Paper-
' 16
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) 294 1/9 =.:§/ ?

3/9+2/9=5/9
._,2_4) 1-5/8=3/8 . L
25)12L+4=3L - - | e
3Lx3=9L
26)a)18:3=6 . b)18+6=24
27) a) $200 + $57 = $257 b) $257 + $43 = $300
 28)9)_9+3=§ .. b)15-3=12
29) 226 -55 =171 30)15+5=3

L 226+171=397 . 3x3=9.. . ... .
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